Review Exercise: LNM I Ch 3-6 

Second Declension neuter nouns; the dative case; noun-adjective agreement

I. Forms

Decline the neuter noun praemium, praemiī (n.) (10 points) 

	
	Singular
	Plural

	Nom.
	
	

	Gen.
	
	

	Dat.
	
	

	Acc.
	
	

	Abl.
	
	


II. Noun-adjective agreement (5 points)

Choose the adjective that agrees with each noun.  Be sure to consider gender, number, and case!

1. dolōrum



A. magnus

B. magnī
C. magnōrum

2. castra (nom.)


A. armatum

B. armata
C. armatīs

3. poetae (dat.)



A. praeclarī

B. praeclarae
C. praeclarō


4. bellīs (abl.)



A. magnīs

B. magnōs
C. magna

5. āthlētam



A. Romānus

B. Romānam
C. Romānum

III. Translation with the dative case

In each of the following sentences, CIRCLE the noun in the dative case.  Then, translate the sentences. (10 points) 

1. Cicero praemia iustīs virīs dat.

2. Animum amicō dare debēs.

A. For the following ACTIVE sentences, fill in the missing adjectives to agree with the underlined word.  Then, flip the sentence from active to passive.  Finally, translate the PASSIVE sentence.  

1. Terentia epistulās _____________________ tenet. 




longus, longa, longum

Make it passive ______________________________________________________________

Translate the passive  _________________________________________________________

2. Nauta _________________ filiam ________________________ amat.


miser, misera, miserum
pulcher, pulchra, pulchrum      

Make it passive ______________________________________________________________

Translate the passive __________________________________________________________

B. Translate the following passive verb forms.  

1. amor
____________________________

3. paramini ___________________________

2. exspectamur ___________________________

4. curaris _____________________________

C. Make the following infinitive passive and translate the passive infinitive:

parare _________________________________
_______________________________________

